WMARR A — —— WIR 5 — el Ey
BB KRR RS RS

2024 4F 12 H 28 H

Part 1. &R
BISR 1. H4 f(z) £ R AEBAR (.} H—RF), FIo T FIHEER, H 0 2HAEE,

A, Vs, W f () P B. #{w, A, W{f(2,) b4k,
C. F{ f(xn) sk, W {x, Plkék. D. F{f(x,)} ¥, W {x, k.

BIRE 2. SH IR lim f(2) A&, BEH f(2) HR

Fa) = i )+ ()7

B Tr— e x—e

0 lim f(x) =

Tr—e

BIRE 3. KA
y " —a" —na"" Yz — a)
v (z —a)?

fBlER 4. X HHK f(x) =z +aln(l+2z)+brsing, g(z) = kad. & f(x) 5 g(x) £ 2 — 0 HEAFNL
70y, K oa, bk #91E.

BISE 5. B f(x) H%, Bk THIWMA L

e ® tin 1Ol
® lin%@é&; @ hn})wéﬁ;

AR f(r) £ =0 BT BERIMGE ().
A1l B.2 C.3 D. 4

I 6. AR X [a,b] £, A — 5 « ZHETIBANZHXR.

A [P f(x)de st B. f(z)T%
C. f(x) &% TH D. f(x)%4
E. f(z)—®& 4% F. f(z)R 5.
G. | f(x1) = f(x2)] < 2|a1 — 2o H. ()% R &

x =1In(1+2t) p
BIRE 7. CHbiH y =y(z) & g+t 7T | el R
2t — / B_u du = 0 dl‘ t=0
1

1
BISR 8. Fa f(z) = || (1 —2) (@ —2) g5 — w5 569 A



fBRE 9. M2 y=Vad — 322+ 1 BT LA FTALA

IR 10. 4R 8 f(2) :/ e sintdt, g(z) = / e dt -sin?x, W ()
0 0
A x =0~ f(x)9HRIE &, &2 g(x) B9 AL &
B. =02 f(z)8HAA %, (0,0) & 8 Ky = g(x) 8945 %.
C.z=0&f(z)8HIEE, (0,0) 2 H &y = f(x)84 5.
D. (0,0) &t &y = f(z)893 .5, LR H Ky = g(x) 85 &

BIRR 11. & 2 =2 £ & (0,0) ey R F42H

Part 2. —JLeR ¥y
IR 12. 3% f(z) £ [a,b] EES, £ (a,b) ATF,0<a<b.
W BE—E € (a,b), 17

ab

b (0) — af(@)] = E1F©) + EF(©):

BIRR 13. & f(x) & [a,b] A= 5%, B f(a) = f(b),
(1) EH4# a<c<b, B f(c) = f(a) = f(b), KiE: HA& £ € (a,b) 1247 f(£) = 0.
(2) % f'(a) =0, Rik: H& € € (a,b), 4F f'(§) = 0.

BIRR 14. % f(o) £ [-1,2) L= TF, B f(-1)=2—-e"1, f(0) =1, f(2) = 2¢% - 1.
WY A e (—1,2), AT (€)= f(§) +2eF +E- 1.

BIEE 15. 3% f(x) & [0,7] L=BT%, B [f(2) < min{l - cosz, sinz}.
A BE e (0,7) 4F (€)= F().

BITE 16. 3% f(z) =M TEE £(0)=0,(0)=1,f (%) ~1.
i A e (0,0), 1A 1) = 2£(©)F ().

2
BIRE 17. 3% f(2) £ [0.0] £=BrTs, 8 (D) =T p(3) =m p(0) = 1.
EW: BAE € C (og) 17

2"(&) = 2f(&) + f(§) =€ — 4 + 4.

fIRE 18. & f(x) £ [0,1] LiE%, & (0,1) ATF, B f(0)=1,f(1) =

PR BEE € <0, ;) M E (;,1), EAF: )+ f(n)=es+e.

BIRR 19. & f(x) £ [0,1] LA =M%, B f(1) = f(0) =0, max f(z) = 2.

<z<1
LEHJ], 1 ’ a < — “,
<z< ( )

IR 20. % f(z) £ (a,b) AT .
B[ (2) £ (a,0) PRSP IRBA G DL EAMR 3 (0,0) WIEEE 21,25, 25, 3
T < X < x3 B, A

f(xz) - f(951) < f(l’3> - f(xz)'

To — T1 T3 — X2

BIRE 21. KHH f(x) =22 In(l +2) £ 2 =0 &8 n HFHK fO(0) (n>3).

2



